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=7 & 10H [Blh _[HAALtHEX 105 K 1[E 852.00] = #l8& 1 HIE 201 /E12A31H
S# 12 108 [BIh _ |BHRamitHEx 105 12 H 1.089.00] S#08%& 110 |SHTIE12H31H
S# JE 108 |[Blh _ [HAALHEX 105 3 H 1,417.00]  S#08&1B18|SH1/&12H31H
SF 12 108 [BIh _ |HRamitHEx 105 14 H 2,119.00]  SH8ZETAIH|S*1174£12831H
S# & 108 |Blh  [HAALHEX 105 5 H 2,850.00] SHI8ETAIH|S*11&E12831H
S# 12 108 [BIh _ |HRamitHEx 105 16 H 2,275.00]  SHI8ZETAIH|S*117412831H
S# & 108 |[Blh _ [HAALHEX 105 17 H 2,317.00]  SHI8ETAIH|S*11/&12831H
SF 12 108 [BIh _ |HRamitHEx 105 18 H 2,282.00]  SHIBETAIH|S#117412831H
S# & 108 |Blh  [HAALHEX 105 19 H 1,341.00] S#08&1H1B|SH1/&12H31H
SF 12 108 [Bh _ |HRamitHEx 105 2 H 891.00] S #I8E1H1A| 230112128316
S# & 108 |[Blh  [HAALHEX 105 20 H 840.00] =S #I8Z 1 H1E |2 #01/2&12A31H
SF 12 108 [BIh _ |HRamitHEx 105 21 H 2,195 00|  SHI8ZETAIH|S#117412831H
S# JE 108 |[Blh _ [HAALHEX 105 22 H 1,480 00| S#08&1H1B|SHT/&12H31H
SF 12 108 [BIh _ |HRamitHEx 105 24 H 2,306.00] SHIBZETAIH|SA117412831H
S# JE 108 |[Blh _ [HAALHEX 105 25 H 2,219.00] SHI8ETAIH|S*11/E12831H
SF 12 108 [Bh _ |HRamitHEx 105 26 T[@ 1,803 00| S#08Z& 110 |SHIIE12H31H
S# JE 108 |[Blh _ [HAALHEX 105 21 H 1,492 00|  S#08&1H1B | SH1/&12H31H
SF 12 108 [BIh _ |HRamtHEx 105 3 T[@ 675.00] &A1 H10 |21 /2E12831 6
S# JE 108 |[Blh _ [HRALHEX 105 4 H 1.069.00] S#08&1H1B|SH1/&12H31H
S# 12 108 [BIh _ |BRamitHEx 105 6 H 1,210.00] S#08Z& 1B 10 |SHI1I&12H31H
S# JE 108 |[Blh _ [HAALHEX 105 7 1@ 906.00] = #18Z1H10 | 230172128316
S# 12 108 [BIh _ |HRamtHEx 105 8 H 1.086.00] S#08Z& 110 |SHTIE12H31H
S# JE 108 |[Blh _ [HAALHEX 105 9 H 1,167.00] S#08&1H18|SH1/&12H31H
SF 12 108 [BIh _ |BHRamitHEx 106 10 H 998.00] S #I8E1H1A | 2301712128316
S# JE 108 |[Blh _ [HAALHEX 106 K H 1.141.00] S#08&1H18 | SHT/&12H31H
SF 12 108 [BIh _ |HRamtHEx 106 12 2|® 926.00] S #I8E1H1A| 230112128316
S# JE 108 |[Blh _ [HAALHEX 106 3 Al 798.00] S #n8c1A1E|SmI/E12A31H
SF 12 108 [BIh _ |HRamtHEx 106 14 Al 913.00] S #I8ZE1H1A | 230112128316
S# JE 108 |[Blh _ [HAALHEX 106 5 H 1.098.00] S#08&1H1B | SH1/&12H31H
SF 12 108 [BIh _ |HRamtHEx 106 16 H 783.00] S #ecE1 A1E|SAI/E12A31H
S# & 108 |[Blh _ [HRALHEX 106 3 1@ 610.00] = #18Z1H10 |2 301/2&12431 6
S# 12 108 [BIh _ |BRamitHEx 106 4 1[@ 848.00] S #I8E1H1A| 230112128316
S# JE 108 |[Blh _ [HRALHEX 106 5 1@ 980.00] = #18Z1 H1E | 2301 /212A31 6
S# 12 108 [BIh _ |BHRamitHEx 106 6 1[@ 872.00] __S#I8E1H1A| 2301 /E12831 6
S# & 108 |[Blh  [HRALHEX 106 7 H 681.00] = #18Z 1 H10 | 20172128316
SF 12 108 [BIh _ |HRamitHEx 106 9 H 1.038.00] S#08Z& 110 |SHTIE12H31H
S# & 108 |[Blh  [HAALHEX 107 i H 1,132.00]  S#08&1H18|SH1/&12H31H
SF 12 108 [BIh _ |HRamitHEx 107 2 H 640.00] S #I8E1H10 | 230112128316
S# & 108 |Blh  [HAALHEX 107 3 1@ 2.508.00]  SHI8ETAIH|S*11/412831H
S# 12 108 [BIh _ |BHRAmtHEx 107 4 1[@ 307.00] S #I8&E1H10 | 2301712128316
S# & 108 |[Blh  [HAALHEX 107 5 H 042.00] = #18Z1 H10 | 2301 /2&12A31 6




=7 & 10H [Blh _[HAALtHEX 107 6 H 2.552.00]  SH8ETAIH| S 1/&12831H
S# 12 108 [BIh _ |BHRamitHEx 109 i H 2,967.00] SHISZETAIH|S*117412831H
S# JE 108 |[Blh _ [HAALHEX 109 10 H 1,466 00] S#08Z& 1R 1H|S#01/&12H31H
SF 12 108 [BIh _ |HRamitHEx 109 1] H 2,810.00] SHISZETAIH|S#117412831H
S# & 108 |Blh  [HAALHEX 109 12 H 2,688.00] SHI8ETAIH|S*11/412831H
S# 12 108 [BIh _ |HRamitHEx 109 13 H 2,723.00]  SHISZEIAIH|S#1174£12831H
S# & 108 |[Blh _ [HAALHEX 109 14 H 3,431.00] SHI8ETAIH|S*11/&E12831H
SF 12 108 [BIh _ |HRamitHEx 109 5 H 1,986.00] S#08% 1R 1H|S#01/2&12H31H
S# & 108 |Blh  [HAALHEX 109 16 H 3,476.00] SHI8ETAIH|S*11/&E12831H
SF 12 108 [Bh _ |HRamitHEx 109 19 H 2,897.00]  SHI8ETAIH|S*117412831H
S# & 108 |[Blh  [HAALHEX 109 2 H 2,735.00]  SHI8ETAIH|S*11/412831H
SF 12 108 [BIh _ |HRamitHEx 109 20 H 2,923.00] SHISEIAIH|S#117412831H
S# JE 108 |[Blh _ [HAALHEX 109 3 H 845.00] = #18Z1H1E | 2301 /2&12831H
SF 12 108 [BIh _ |HRamitHEx 109 4 H 2.085.00] SHIBZETAIH|S#117412831H
S# JE 108 |[Blh _ [HAALHEX 109 5 H 3,015.00] SHI8ETAIH|S*11&E12831H
SF 12 108 [Bh _ |HRamitHEx 109 6 H 1,665.00]  S#08% 1R 1H|S#01/2&12H31H
S# JE 108 |[Blh _ [HAALHEX 109 7 H 1,340 00| S#08& 1R 1H|S#01/&12H31H
SF 12 108 [BIh _ |HRamtHEx 109 8 H 3,036.00] SHIBZETAIH|SA117412831H
S# JE 108 |[Blh _ [HRALHEX 109 9 H 1.167.00] S#08& 1R 1H|S#01/&12H31H
S# 12 108 [BIh _ |BRamitHEx 110 30 H 2,408 00|  SHISZETAIH|S#1174£12831H
S# JE 108 |[Blh _ [HAALHEX 110 32 H 2,416.00] SHI8ET1AIH|S*11/&E12831H
S# 12 108 [BIh _ |HRamtHEx 110 33 H 2,800.00] SHISZETAIH|S#11T412831H
S# JE 108 |[Blh _ [HAALHEX 110 34 H 2,781.00] SHI8ETAIH|S*11/&E12831H
SF 12 108 [BIh _ |BHRamitHEx 110 35 H 1,814.00]  S#08%& 1R 1H|S#1/Z&E12H31H
S# JE 108 |[Blh _ [HAALHEX 110 36 H 1,857.00] S#08& 1R 1H|S#01/&12H31H
SF 12 108 [BIh _ |HRamtHEx 110 37 H 288.00] S #I8E1H1A| 230112128316
S# JE 108 |[Blh _ [HAALHEX 110 38 H 2.385.00] SHI8ETAIH|S*11/412831H
SF 12 108 [BIh _ |HRamtHEx 110 39 H 716.00] S #8c1 A1E|SAI/E12A31H
S# JE 108 |[Blh _ [HAALHEX 110 40 H 1.750.00] S#08& 1R 1H|S#01/&12H831H
SF 12 108 [BIh _ |HRamtHEx 110 41 H 772.00] __SscEi A1E|SmI/E12A31H
S# & 108 |[Blh _ [HRALHEX 114 3 1@ 666.00] #1821 H10 |20 /2124316
S# 12 108 [BIh _ |BRamitHEx 114 5 1[@ 237.00] S #I8E1H10 |21 /E12831 8
S# JE 108 |[Blh _ [HRALHEX 114 6 1@ 28.00] = #06%1H10 | 20112128315
S# 12 108 [BIh _ |BHRamitHEx 117 i 1[@ 1.163.00] _©#08% 1R 1H|S#01/2&12H31H
S# & 108 |[Blh  [HRALHEX 117 i Al 1,.110.00] S#08& 1R 1H|S#01/&12831H
SF 12 108 [BIh _ |HRamitHEx 117 3 1[@ 808.00] S #I8E1H1A| 230112128316
S# & 108 |[Blh  [HAALHEX 117 4 1@ 110.00] __&#8&1A1H|SmMI/E12A31H
SF 12 108 [BIh _ |HRamitHEx 119 i H 1.754.00]  S#08%& 1R 1H|S#01/Z&12H31H
S# & 108 |Blh  [HAALHEX 119 10 H 2,906.00] SHI8ETAIH|S*11/&E12831H
S# 12 108 [BIh _ |BHRAmtHEx 119 1] H 1,784.00]  S#08%& 1R 1H|S#01/Z&12H31H
S# & 108 |[Blh  [HAALHEX 119 12 H 490.00] = #00% 1 B10 | 230112128315




=7 1% 108 [Bm _ |[HAALHEX 1= 470.00]  SH8E1H1H|SMI/&E12A318
270 1% 108 (Bt |SRETLHEX H 80.00] SHIBZEIRIH|SMI/ZE12A31H
2% 1% 108 (Bt |SHAALHEX H 3.147.00] _S#N8&1H1B|SH1I&E12A31H
270 1% 108 (Bt |SRETLEHEX H 2,910.00] __S*08E1H1H|SHI1I&EI12A31H
2% 1% 108 (Bt |SAAEHEX H 1,220 00|  S#18&E1A1H|S#1/E12H31H
270 1% 108 (Bt |SRETLEHEX H 1,396.00]  S#18ETA1H|SHI1/E12H31H
2% 1% 108 (B! |SAAEHEX H 2,352 00| S#N8E1H1B|SH1I&E12A31H
270 1% 108 (Bt |SRETLHEX H 2,156 00| S*08Z1H1H|S*1/&E12A31H
2% 7% 108 (Bt |SAALHEX H 2,165 00| S#08&1H1B|SH1/&E12A31H
270 1% 108 (Bt |SRETLEHEX H 1,033.00]  S#18ETA1H|SHI1/EI12H31H
2% 1% 108 (B! |SAAEHEX H 1,080.00] S#18&TA1H|S#1/E12H31H
270 1% 108 (Bt |SRETLHEX H 122 00| __S#08&E1H1H|S*1IEI12A31H
2% 7% 108 (Bt |SAALHEX H 1.670.00] S#18&ETA1H|S#1/E12H31H
270 1% 108 (Bt |SReTLEHEX H 1,080.00] S#18ETA1H|SHI1/EI12H31H
2% 1% 108 (B! |SAAEHEX H 2.981.00] _S#N8&1H1B|SH1I&EI12A31H
270 1% 108 (Bt |SRETLEHEX H 2.941.00] _S#08E1H1E|SH1IEI12A31H
2% 1% 108 (Bt |SHAAEHEX H 2,880 00| S#N8E1H1B|SH1I&EI12A31H
270 1% 108 (Bt |SRETLHEX H 1,460.00] S#18ETA1H|SHII1/EI12H31H
2% 1% 108 (Bt |SAAILHEX H 1,363.00]  S#18&E1A1H|S#1/E12H31H
270 1% 108 (Bt |SRETLEHEX H 2,608.00] _ S*08EI1HTH|S*1IEI12A31H
2% 1% 108 (Bt |SHAAEHEX H 3,333.00] _S#N8E1HIB|SH1I&EI12A31H
270 1% 108 (Bt |SRETLEHEX H 2,097.00] __S#08E1H1E|S*1I&EI12A31H
2% 1% 108 (Bt |SHAAEHEX H 2,880 00| S#N8E1H1B|SH1I&EI12A31H
270 1% 108 (Bt |SRETLEHEX H 2,993 00| S#08E1H1H|S*1I&EI12A31H
2% 1% 108 (Bt |SHAAEHEX H 1,806.00]  S#18&E1A1H|S#I1/E12H31H
270 1% 108 (Bt |SRETLHEX H 1,462.00]  S#18ETA1H|SHII1/E12H31H
2% 1% 108 (Bt |SHAAEHEX H 1,431.00] S#18&E1A1H|S#1/E12H31H
270 1% 108 (Bt |SRETLHEX H 2,056 00| S#08Z1H1H|S*1/&E12A31H
2% 1% 108 (Bt |SHAALHEX 1= 53300 SH8E1H1H|SHMI1/&E12H31H
270 1% 108 (Bt |SRETLHEX 2(@ 556.00] S #I8ZE1H1H|SH1/412H31H
2% 1% 108 (Bt |SHAAEHEX 3@ 300.00] SH8E1H1H|SHMI/&E12H31H
270 1% 108 (Bt |SRETLHEX H 234 00| S#08E1H 1A |S*1I&E12A31H
2% 1% 108 (Bt |SAALHEX H 600 00| S#N8E1H1B|SH1I&EI12A31H
270 1% 108 (Bt |SRETLEHEX H 320.00]  S#I8ZE1R1H|SH1/Z12H31H
2% 1% 108 (B! |SAAEHEX H 72.00] _ SH8E1H1B|SHII&E12A31H
270 1% 108 (Bt |SRETLHEX = 77.00] __SH8ZE1H1E|SH1I&E12A31H
2% 1% 108 (B! |SAAEHEX 1[5 325.00] __S#N8E1H1B|SH1I&EI12A31H
270 1% 108 (Bt |SRETLHEX Al 1530 00| S#08E1H1H|S*1I&EI12A31H
2% 7% 108 (Bt |SAALHEX 1[5 304 00| SH8E1H1H|SMI/E12H31H
270 1% 108 (Bt |SRETLHEX H 118.00] __S#08&E1H1H|S*1IE12A31H
2% 1% 108 (Bt |SHAAIEHEX H 144 00| S#08&E1H10 | SH1I&EI12A31H




&% /& 10A [Blh_|HRALHEX 2% 16 i 100]  SwsEIAIE|[SmMIIEI2AIH
S# 12 108 [BIh _ |BHRamitHEx 25 17 1 152.00] __SH8&1A1H|SMITEI2A31H
5% 1& 10A Bt |SRALHEX 25 17 Al= 50.00] = #06% 1B 10| 20112128315
SF 12 108 [BIh _ |HRamitHEx 25 18 i 185.00] _SH8&1A1H|SMITEI2A31H
5% 1Z& 10A |Bh _ |SRLHEX 25 18 Al= 99.00] = #18%1H10 | 201121283185
S# 12 108 [BIh _ |HRamitHEx 25 19 H 152.00] __SH8&1A1H|SMITEI2A31H
5% 1& 10A Bt |SReLHEX 25 20 H 171.00] __2#8&1A1H|SmMII1E12A31H
SF 12 108 [BIh _ |HRamitHEx 25 21 1 135.00] _SH8&1A1H|SMIITEI2A31H
5% 1& 10A Bt |SReLHEX 25 21 Al= 33.00] = #00% 1B 10| 20112128318
SF 12 108 [Bh _ |HRamitHEx 25 22 i 2400 __S08% 1B 10|21 12128318
5% 1& 10A Bt |SReLHEX 25 24 [ 117 S8 H10| 2172128316
SF 12 108 [BIh _ |HRamitHEx 25 25 1 24.00] __=#00% 1B 10|21 12128318
5% 1ZE 10A |Bh _ |SRALHEX 38 i [ 1.479.00]  S#18& 1R 1H|S#01/&12H831H
SF 12 108 [BIh _ |HRamitHEx 38 6 1 739.00] S AnecE 1 A1E|SAI/E12A31H
5% 1Z& 10A |[Bh _|SRALHEX 39 14 [ 410.00] = #06% 1 B10 | 230172128318
SF 12 108 [Bh _ |HRamitHEx 39 16 1 79.51] S8 H1A |21 /E12831 68
5% 1ZE 10A |Bh _ |SRALHEX 39 17 [ 330.00] =S #18Z1 H10 | 20172124316
SF 12 108 [BIh _ |HRamtHEx 39 17 AlE= 62.00] __=#08% 1010|2301 12128318
5% 1& 10A Bt |SRALHEX 39 2 1@ 165.00] _2#8% 1 A1H|SMI/E12A31H
S# 12 108 [BIh _ |BRamitHEx 39 22 1 430.00] __&#08% 1010|2301 12128315
5% 1ZE 10A Bt |SReLHEX 39 23 [ 418.00] = #00% 1 B10 | 230172128318
S# 12 108 [BIh _ |HRamtHEx 39 23 AlE= 284.00] S #I8E 1 H10| 2301 /E12831 68
5% 1ZE 10A Bt |SReLHEX 39 24 Al= 59.00| = #18% 1B 10| 20112128318
SF 12 108 [BIh _ |BHRamitHEx 39 25 i 203.00] __&#08% 1510|2301 12128315
5% 1ZE 10A Bt |SReLHEX 39 26 [ 221.00] S #18&1 H10| 2501 /2&12A31 6
SF 12 108 [BIh _ |HRamtHEx 39 26 AlE= 155.00] S 8% 1 A1H|SMIITEI2A31H
5% 1Z& 10A Bt |SRLHEX 39 21 1@ 237.00] S #18Z1 H10 | 230172128316
SF 12 108 [BIh _ |HRamtHEx 39 27 AlE= 112.00] S8 1A1E|SMITEI2A31H
5% 1Z& 10A Bt |SRLHEX 40 17 H 1,024 00  S#08&1R1H|S#01/&E12H31H
SF 12 108 [BIh _ |HRamtHEx 11 14 H 685.00] S #I8ZE1H10| 230112128316
5% 1& 10A Bt |SRALHEX 12 3 1@ 1.937.00]  S#08& 1R 1H|S#01/&12H831H
S# 12 108 [BIh _ |BRamitHEx 12 32 H 1,806.00] S#08% 1R 1H|S#01/Z&12H31H
5% 1Z& 10A Bt |SRLHEX 12 33 H 1,604 00  S#08Z&1R1H|S#01/&12H31H
S# 12 108 [BIh _ |BHRamitHEx 12 34 H 674.00] S8 1 H10 |21 /2E12831 8
5% 1Z& 10A Bt |SRLHEX 12 37 H 1.5/8 00 S#18& 1R 1H|S#01/&12H31H
SF 12 108 [BIh _ |HRamitHEx 12 39 1 1,182.00] _S#08% 1B 1H|S#01/Z&12H31H
5% 1& 10A Bt |SReLHEX 13 21 Al= 50.00] = #06% 1B 10| 20172128315
SF 12 108 [BIh _ |HRamitHEx 13 55 H 1,442 00 S#08%& 1B 1H|S#01/2&12H31H
5% 1& 10A Bt |SReLHEX 13 56 H 1,300 00| S#08& 1R 1H|S#01/&12H31H
S# 12 108 [BIh _ |BHRAmtHEx 16 16 AlE= 540.00] S #18Z1H10 | 230112128315
&% 1ZE 10A |Bh _ |SRALHEX 16 75 H 1.476.00] S#08&1H1B|SH1/&12H31H




&% /& 10A [Blh_|HRALHEX 16 76 H 1.713.00]  S#8&1H1B|SHI1/&12H31H
S# 12 108 [BIh _ |BHRamitHEx 16 28 H 167.00] S8 1A1H|SMITEI2A31H
5% 1& 10A Bt |SRALHEX 16 29 1= 1.168.00] S#08&1H10|SH1/&12H31H
SF 12 108 [BIh _ |HRamitHEx 16 30 H 1,564 00|  S#08Z& 1B 10 |SHTI&E12H31H
5% 1Z& 10A |Bh _ |SRLHEX 16 31 H 1,399.00] S#08&1H1B|SH1/&12H31H
S# 12 108 [BIh _ |HRamitHEx 16 32 H 970.00] S #I8E1H10 |21 /2128316
5% 1& 10A Bt |SReLHEX 16 33 H 1.079.00] S#08&1H18|SH1/&12H31H
SF 12 108 [BIh _ |HRamitHEx 16 34 H 1,089.00] S#08Z& 110 |SH1I&12H31H
5% 1& 10A Bt |SReLHEX 16 35 H 1,302 00|  S#08&1H1B | SH1/&12H31H
SF 12 108 [Bh _ |HRamitHEx 17 16 1= 1,020 00]  S#08Z& 110 |SH1I&E12H31H
5% 1& 10A Bt |SReLHEX 47 21 1= 2,057.00] SHI8ETAIH|S*11&E12831H
SF 12 108 [BIh _ |HRamitHEx 47 24 Al 1,640 00| S#08Z& 110 |SHITIEI2H31H
5% 1ZE 10A |Bh _ |SRALHEX 47 25 H 1,549.00]  S#08&1H1B|SH1/&12H31H
SF 12 108 [BIh _ |HRamitHEx 47 21 1= 1,750 00| S#08& 1B 10 |SH1IE12H31H
5% 1Z& 10A |[Bh _|SRALHEX 47 28 H 2,256.00]  SHI8ETAIH|S*11/412831H
SF 12 108 [Bh _ |HRamitHEx 47 29 H 1,643.00] S#08Z& 110 |SHITIEI2H31H
5% 1ZE 10A |Bh _ |SRALHEX 59 26 H 242.00] S #18&1 H10 | 230172128316
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